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int sum=0;

int func (int *n)

{intm;
cin>>m;
while(m<= *n)

{ sum+=m;
*n--;}

return(sum)}

int main()

{int a,b,n=10;
b=func(&n);

a=n+sum; }
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Main(){

int i,sum;

sum=0;

Cin>>n;

For(i=1; i<=n; i++)
sum=sum-i;

Cout<<sum;}
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Main()
{ int a, *p, *q;
a=5;
*q=new(int);
p=&a;
q="p;
delete(p);}
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Program main;
Var
m,n:integer;
Procedure test ( x:integer);
Var
m:integer;
Begin
m:=15;n:=10;
If x>m then
X:=X+N;
Write(x);
End; // end of procedure test
Begin
m:=120;
n:=100;
test(m);
Write(m);
End.

call by value=130,120 . Call by value-result=130,130 A
call by value=220,120 . Call by value-result=220,220 ¥
call by value=130,120 . Call by value-result=130,120 ¥

call by value=130,130 . Call by value-result=130,120 ¥
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Program main;
Var
acinteger;
Procedure display;
Begin
a:=a+2;
Write(a);
End // end of procedure display
Procedure R;
Var
acinteger;
Begin
a:=10;
display;
End; // end of procedure R
Begin
a:=5;
R;
display;
End. // end of program
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